1. | lim ¢ 2%+ 1
Xx—0 3x+ 4

limitinin degeri kagtir?

A) 0 B) 1 C) & D) 1

Ix=1|
E Iim 3
x—o>=2 VX +1
limitinin degeri kactir?
A) =3 B)-2 C)2 D)3
3, | lim {x2=16
X—3
limitinin reel sayilarda egiti nedir?
A3 B) 2 c)V7 D)3
4. lim 2 +x—10 + 3x2 + x— 1
X — =2

limitinin degeri kagtir?
A)-3 B) —1 C)1 D)3
B im [ 3

x4 ‘ x2—5x—8 |
limitinin degeri kagtir?

1 1 1
A)1 B) 5 C) 4 D) 5
E lim +1—cosx
x—>0
limitinin degeri kacgtir?
A)=2 B) =1 C)0 D) 1
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Cevaplar :
1C, 2)A, 3)E, 4)C, 5A, 6)C,

E)2

E)5

E) Yoktur.

E) 2



